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ST $0e ST bt Tfzhan § 2T € 38 i A Sieheliad Bt H T Sl 27
The email that is in process of sending, can be found in which Mailbox folder?

(a)  g=ii#d / Inbox (b) ged/ Drafts

(c) u=/Sent (d) en3eEEE / Outhbox

el 3R G T W ford frefafiaa i o wdemem frenfed e smare?

Which of the following protocols perform encrypted communication during web

browsing?
(a) HTTP (b) SSH
(¢) HTTPS (d)y SMTP

o S e 7 Feterfiad s deifird 7€ 27

Which of the following is not associated with the Wi-Fi Security?
(@) SSL (b) WEP

(¢)  WPA (d) WPA2

STt o ek o ifereh 2t v frafor s ¥ i war suand 87

To dynamically assign IP address to a computer in a network, which service is used?
(a) DHCP @ar / DHCP Service

(b)  Fdfire @an/ Directory Service
(¢) 98 =m a1/ Domain Name Service

(d) A= @ar / Web Service

3 PC-12/2018




STANET 3TN hvg (30, BT
"1" SPACE APPLICATIONS CENTRE (ISRO), AHMIEDABAD S ET

Fudlisra i_no

‘ aerffr- o (Hvaeeae) A
TECHNICIAN-‘B’ (CHNM)

5. aferklivd HT TP simafowt i wrenaiet i gt skl argwet §f St 27

Which port should be allowed in the firewall for default HTTP web browsing?
(@ 21 (by 23
() 80 (d) 25

6. 3t tgH 10.61.51.31 i gare uress 255.255.0.0 % o e Jead vdg s an 27

For IP Address 10.61.51.31 and subnet mask 255.255.0.0, what is the network address?
(a) 10.61.51.31 (b) - 5181

(c) 10.61 (d) s HEE / None of these

7. Hueh 3 fovaE e Wieehe i ar e ?
Which is the connection-oriented reliable protocol?
(a) UDP (by TGP
© IP (d) ALOHA

8. el wurrelt eiduuch (OSI) wurreft o fopa v aia €7
How many layers are in Open System Interconnection (0SI) model?
(@ 3 (b) 5
() 7 (d 9

9.  frfctiad @ @ =i € Ae Heas wieuf T 87

Which of the following is not a standard network topology?
(a) wWR/ Star (b) f@1/Ring
(¢c) " /Bus (d) W&/ Forest

4 PC-12/2018




A SPACE APPLICATIONS CENTRE (ISRO), AHMEDABAD
THd |isFa

siafier Igah heg (380, ITEHeETE

ahRrE- o (Heaeaee)
TECHNICIAN-‘B’ (CHNM)

SET

10.

11.

12.

13.

|t sirehTatt o fordl wrdet ol frared s o ford fomag gaen s 27
What is a Linux command for making a file executable for all users?

(a) is <filename> (b) chmod 777 <filename>

(¢) chmod 640 <filename> (d) is -ltr<filename>

seR3TY o Torl ohiF © TR H Higshiuite Si3ees siod i wieed =1 fafd shar 87

In which format Microsoft Outlook exports the emails and folders for backup?

(a) .doc (b) .jpg
(c)  .pdf (d) .pst
TTH O = | AT S0 Gl Wiey T8l 27

Which of the following is not valid Image file format?
(a)  .png (b) .gif
() .mdb (d) tiff

e ecifiadh! # fordt 37=il 3 arer siter ST Hehe 87

In asymmetric cryptography, which can be shared with others?

(a) WA/ Private key

(b)  ufssts &Y/ Public Key

(c)  wrgde & i ufserer Sl §H1 / Both Public and Private Keys
(d) =R +fE/ None
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14.

15.

16.

15

a.txt Beht i b.txt Feehi o w1 Gafid e 8 fomen 1 i quee @7

In Linux, what is a command to append a.txt contents into the b.txt contents?

(a)
(c)

a.txt + b.txt (b) cata.txt >> b.txt
a.txt merge b.txt (d) a.txt append b.txt

fiiet ol Seenel el o et sia I8 i &g fordt wenfir foran sran 27

To interface a printer to a desktop PC, which of the following should be installed?

(a)  7gmeR / Compiler (b)- Tid=s/ Interpreter

(c)  gfkgrzat/ Device Driver (d) JAVA

i a1 RAID o e firdin dar 2 ?

Which RAID configuration provides disk mirroring?

(a) RAIDO (b) RAID1

(¢ RAID3 (d) RAIDS

St STegraiett 3wt i e el i 27

Which is the correct difference between Virus and Worm in computer terminology?

(a) s i el e 2, s B ad % o wfea enfods wioim ) s Ed R / Virus is a
standalone executable while Worms requires active host program

(b)  arS erefeEn i wE wtar 8, df 9 fieh i ye k@ g / Virus only corrupt harddisk while
Worm corrupts the PC

(c)  arsud ol snfasy wifn &t sreed aid) 2, df ad o @Rl w8/ Virus requires active
host program to execute while Worms are standalone program

(d) e % o g i Yeadh o se a2, df 9 i Aeadh sl 8 @ / Virus require

network while Worm does not require network to spread
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18, S syt H Treerd o aire w1t oht w1l e v v o gornfera < ehef giar 27

19,

20,

21.

22,

If Computer clock time is not maintained after restart, where can be the possible fault?
(a) RAM (b) =M@ /Hard Disk

(c) sl /Battery (d) Hffe/ Monitor

I 7R 8 T wefi eh ST g Hedeh Uehe ST A U1 oh foregd w1 3w B fgier 3 i an e
3G &7 '

In Windows, the command to see the details of the path a network packet follows while
moving from source machine to destination machine is

(a) ipconfig (b) tracert

(¢) ping (d) telnet

IPv6 “eaeh ugd | e sfted waeh eid 27

How many number of bits are used in IPv6 network address?
(a) 32 (b) 64

(c) 96 (d) 128

ST eaeh 1 Tey Sigfehan atiera ofit foedien foafta st o for ol | e wyeh 27

Which protocol is used for delivering real time audio and video over IP network?

(a TCP (b) SMTP

(c) RITP (d HTTP

Bt bt ST STt 27

Which is not a computer Operating System?

(a) fa=e=/ Windows (b) <&@/ Linux
(c) wiai|/ Solaris (d) 2/ Net
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23

24,

25.

26.

3171 Jeaeh 4 THide Feaeh dehed i u nifid foran strar 27

Network packets destined for other network are forwarded by
(a) U/ Router

(b) dW-2&= / Layer-2 Switch
(c) =/ Hub
(d) 39U @ =is 7€ / None of the above

FIAETA ST A dhleh ol ek Tehal 21

A Firewall can prevent the unauthorized network traffic
(a) Tk g @ et/ Only Inside to Outside

(b)  fad s a et/ Only Outside to Inside
(c) Gl 3iet & aTet M =gt & 3¥<X / Both Inside to Outside and Outside to Inside
(d) 390w H ¥ i T8 / None of the above

et STV o fordl shie a1 Seedh U HANIE S 27

Which network application layer protocol is used for file transfer?
(@) FTP (b) SMTP

(c) NTP (d) Telnet

BRI 3R H1ehd wvast (HTML) a1 39 < 7

Hyper Text Markup Language (HTML) is used for?
(a) oS efagie 1 2o ol |ich &1/ To mark a text in word document

(b) W da g8 s=ET/ To make static web pages
(c) e ! Wevfie W 3mes ghaed o1/ To give various effect on text in Spreadsheet
(d) < ecifiad & / To encrypt data

8 PC-12/2018
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27,

28.

29.

30.

BELRE

H U 3 RIRIE iG] T2 iehie 394 H erdr 27

Email Client uses which protocol to fetch the emails from the server?

(a) HTTP (by TFTP

(c) FTP (d) POP3

U fepetege & T R |

One kilobyte is equal to

(a) 1000 bytes (b) 1024 bytes

(c) 100 bytes (d) 1023 bytes

7 & ke g T 27

Which of the following is not an output device?

(a)  Hsw / Printer (b) Tt yed / Keyboard
(c)  wif¥ex/ Monitor (d) @t/ Speakers
UPS 1 qof m eprr 27

What is the complete name of UPS?

(a)
(b)
(©
(d)

Unplugged Power Supply
Uninterruptible Power Supply
Unplugged Program Supply
Uninterruptible Plug Supply

PC-12/2018
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32.

33.

34.

i |1 8 fowr @ gaftg 27
Which is related to the hard disk?
(a) SAS and SCSI

(b)  SATA Serial ATA or Serial Advanced Technology Attachment
(¢c) IDE
(d) 3w @t/ All of the above

VGA shiaet H fefet fir gieft 27

How many pins are there in a VGA connector?

(@ 15 (b) 9
(¢) 25 (d) 32
et § Tl wiie sad o Faara?

Missing slot covers on a computer can cause
(a)  SAEITTRA BT/ Over heat

(b)  diatd wiesd / Power surges

(c) forgga geehia $exh4 / Electro Magnetic Interference
(d)  ESD ferd s unt / Incomplete path for ESD

/0 =1E T e 34114 swaer fore Tl Blar 87

The 34-pin connection on an I/O card is for?
(a) v grga / Floppy drive (b) SCSlgra/SCSI drive

(¢) IDEsgREa/IDE drive (d) TrgEa/Zip drive

10
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35. RS-232 U HHE 2 Sl % for ey Erdn 2 |
RS-232 is a standard that applies to ;
(a)  avfturdy / Serial ports (b) wHIARYeY / Parallel ports
() Wd Uy /Game ports (d) “eahy/ Networks
36. TS g S YU T h1 HaTaH 3uTT TR 7
What's the best way to protect your hard drive data?
(a) WIS ga v frafia gfdet / Regular backups on other storage drive
(b)y  =waf¥es d s w1/ Periodically defrag it
(c)  WWE ¥ %9 ¥ % U a1 chkdsk =1 / Run chkdsk at least once a week
(d) @ H FH ¥ T Uk 9 Ehees 9ol / Run scandisk at least once a week
37. @l i ara d CMOS <rerm 72 Tirerelt 8 | 36eht H7al shryr o1 27
You get a CMOS checksum error during boot up. What is most likely the cause?
(a) U T Hem 2 / Power supply is bad
(b)  BIOS &t srerda s wisdl 2 / BIOS needs updating
(¢)  CMOS szl =1 sflaq waw &4 =l 8 / CMOS battery is nearing end of life
(d) eSS v Ted @1 | uitaifid 2 / Hard drive types are incorrectly defined
38. COMTE Iie 2|
A COMportis a port.
(a) wgwial/ Parallel (b) =t/ Serial
(c) f@r / Static (d) SCSl
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39.

40.

41.

42.

UPS T =hi4 |1 3uervr v =81 frar smar =i ?

Which device should not be plugged into a standard UPS?

(a)  \IfFey Monitor (b) ST/ Laser printer
(c)  gh-sie fiiet/ Ink-jet printer (d) smHREE ¥/ An external modem
RIS T H o1 1 Feeh areer foma sar 87

Which of the following is a type of preventative maintenance used on a hard drive?

(a)  fTewr = et / Disk check diagnostics

(b) B¢ sramEe TEEds / Head alignment diagnostics
(¢)  sMHRmEERsiT/ Initializing

(d)  ¥iwm gt w61/ Uninstalling programs

USB ferd 3uarott it Tmféfa i 27

How many devices does USB support?

(@) 127 (b) 125
© 100 @ 225
Al eRtoT § Wert ST T2eh hid |1 R ?

Which is the easiest component to recycle?

(a) wew@rg / Motherboards

(b)y  CMOS 3qswur / CMOS hatteries

(c) ZFmaisH / Toner cartridges

(d) wMeie@ / Cathode ray tubes

12 PC-12/2018
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43.

44.

45.

ST H=RYT SR <) 41 AT sed seerd & df 34 3fe ol shgd ————— 2|

When two or more bits in a data unit has been changed during the transmission, the
error is called

(a)
(b)
(©
(d)

{en e / Random error

5w 3¢ / Burst error

z=es Ife / Inverted error

39t H ¥ wig e / None of the mentioned

CRC I

CRC stands for

(a) Cyclic redundancy check
(b)  Code repeat check

(c)  Code redundancy check
(d)  Cyclic repeat check

5 DNS Tt 87 & Teid STHeRHY ST 3 3UanT H Srar @ S <l 39 A1 sl 97 o T armfiepa 7, 38 wed

?

|

When a DNS server accepts and uses incorrect information from a host that has no
authority for giving that information, then it is called

(a)
(b)
©
(d)

DNS a9 / DNS lookup

DNS grsihin / DNS hijacking

DNS @i / DNS spoofing
3ulieh o @ =g €l / None of the above

13

PC-12/2018




SAlE IWAT 7 (36 ), IgHEETE

'}1" SPACE APPLICATIONS CENTRE (ISRO), AHMEDABAD SET
s -y (deee) A
TECHNICIAN-‘B’ (CHNM)
46. el SR FAE H IS gl did am S fafiva e 3 v 3 @ % wemwor @ 10 Mbps, 20 Mbps,
30 Mbps 3040 Mbps 3 del gqe — &y
In the transfer of file between server and client, if the transmission rates along the path
in different links are 10 Mbps, 20 Mbps, 30 Mbps, and 40 Mbps, the throughput is
usually
(a) 20 Mbps (b) 10 Mbps
(¢) 40 Mbps (d) 50 Mbps
47, FEYE —— ¥, 3uehT et & sl widat 2o1 aee 7d wedt|
In computer security ————————— means that data cannot be modified by unauthorized
parties.
(a)  Tufar / Confidentiality (b) uETwE/ Integrity
(c)  39atsyar / Availability (d) wear/ Authenticity
48. MACTgH— )
MAC address is of
(a) 24 bits (b) 36 bits
(c) 42 bits (d) 48 bits
49.  Tdagifie et i G Ry M 1 IS W S SR A 37

Which of the following transport layer protocols is used to support electronic mail?
(a)—SMTP (b)y IP
(€) TCP (d) UDP

14 PC-12/2018
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50.

51.

92.

53.

a%@uﬁaﬁmqsﬁmm(mp)%ﬁw%ﬁ(mp)wm%—hn

If an Address Resolution Protocol (ARP) request is broadcast, then ARP reply is

(a)  gfeda / Universal

(b)  gM=RE / Unicast
(c)  Hedlshz / Multicast

(d) %o/ Generated locally

Jeash H PPP g a1 fieqe — 9,

In networking, the word PPP stands for
(a)  Point to Point Protocol

(b)  Packet to Packet Protocol

(¢)  Point to Packet Protocol

(d)  Packet to Point Protocol

3 gAY fame 1 NOT-e # e df fnfy BT

When an input signal 1 is épplied to a NOT-gate, the output is

(@ 0 (b) 1

(¢) =d0ar1/Either 0 & 1 (d) SWHAAFREAE / None of the above
fesfieat wome # wenya duré e G

The basic storage element in a digital system is .

(a)  weflawma/ Flip flop (b) =&/ Counter

(¢) wedradt / Multiplexer (d) U=kt / Encoder

15 PC-12/2018
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54. [ vAi el § AT ST R 87

From where can the boot option be selected?

(a) BIOS =i/ BIOS Features

(b)  =iudeFr=d / Chipset Features

(¢) CPUdf® ™ / CPU Soft menu

(d)  uiet HasEe TeT / Power management Setup
55.  ahget 9e1 o it wishan @ |

Back up of computer data is the process of

(a) =< gréa i wivd wided ueteT / Reversing the files stored on the hard drive

(b) et R % % e Tat / Putting your computer in the back of the room

(c) wie g efufiad s / Encrypt the data on the storage

(d) w=ad wfifes ufd @urdia G / Storing an extra copy on an external storage device
56. 373 U goirie Brseli e 2 < 321 ok G St Eied Wl 2

A Database is an electronic filing system used to store and organize data in

(a) Tad &=/ Only fields

(b) fud ey / Only records

(¢) Tk wiged / Only files

(d) &, fenrdy st wsed / Fields, records and files

16 PC-12/2018
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57.

58.

29.

60.

ST T Afeh 39 qx AL fera 7 34 Fflgpd femar ST 2|

Type of memory which is used to read data but not to write on it is classified as

() T il Andt / Random only memory

(b) e sfaw Andl / Read access memory

()  {efiwh 4mdi / Read only memory

(d)  T<m sfa@ imd / Random access memory

31eh TOTT 1fdheh weheh # fodo g @RS SR AT R, 38— gy
Arithmetic Logic Unit have special purpose storage locations, called
(a) ugH/Address (b) sred / Registers

(¢)  sfegeyeed / Accumulators (d) =w/Bus

RIS 1 CHRITET AT 38 & =l T E=Id: T drar 27

Which of the following is the most commonly used encoding standard of Unicode?
(a) UTF-6 (b) UTF-7

() UTF-8 (d) UTF-9

STel ‘N’ gfcrtierer Sedeh et ‘' wniat S8 R dt Rorfass wfade % gt 21 e d ' wRrigs 297t 1 S B A et
gl g

When 'n’ resistances each of value ‘r' are connected in parallel, then resultant resistance
is ‘x". When these ‘n’ resistances are connected in series, total resistance is

(a) nx (b) rnx

(¢c) x/n (d) n2x

17 PC-12/2018
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61.

62.

63.

64.

31 srest 200 W, 250 V 3t 100 W, 250 faweifa 8, st 250 V acera # oft ¥ Sivet mam 2 at wehie gn
TG el T —————— B0l

Two bulbs which are marked 200 W, 250 V and 100 W, 250 V respectively are joined in
series to 250 V supply. Power consumed in circuit is approximately

(1) 33 Watt (b) 67 Watt
() 100 Watt (d) 300 Watt
Ife gehle 1 <) sremH gfeis garat | qa B 2

If a circuit contains two un-equal resistances in parallel, then

(a) =" @EE 9rr/ Current is same in both

(b) el uw =g gty # wedt € / Large current flows in larger resistor

(c) =i ue-uiire efe uH 2t & / Potential difference across each is same

(d) g ufatier # o =rersRar giaT & / Smaller resistance has smaller conductance

S SRS W —— W WRh &l &

Zener diodes are commonly used as ;

(a) femerdl / Rectifier (b) wadd= / Amplifier
(c)  dicear fEwes / Voltage regulator (d) Teet/ Filter

HHTER T b T o1 (B i a7
Which standard govern parallel communications?

(2) RS232 (b) RS232a
(c) CAT5 (d) |EEE 1284

18 PC-12/2018
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65.  Wi-Fi 37y dféeq % ford du deg w @ 27
Which of the following are valid bands for a Wi-Fi access point?
(a) 3.4 GHz, 5GHz (b) 2.4 MHz, 5 MHz
(cy 6 GHz 8 GHz (d) 2.4 GHz, 5GHz
66.  foraw /gitan vl § Fans S ¥ I At anee I St i
What command is used to display the parameters of a Linux/Unix process?
(a) au (b) ps
() du (d) pid
67. K fetaell s Freafafiad § & i a1 wam a1 dares e g 37
Which of the following is not a division or container structures in Active Directory?
(a) WY/ Forests
(b) B/ Domains
() <==/Webs
(d) RSRES gfed / Organizational Units (OU)
68.  SCSI Wi e 3

SCSI port stands for

(a)  System Computer Scanning Interface
(by  Small Computer System Interface

(¢c)  Small Computer System Internet

{d)  System Computer, System [nterfaced

19 PC-12/2018
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69.  eas 32Tha TS < weed | wg 10/100 wTfit FETd 2|
With respect to a network interface card, term 10/100 refers to —— speed.
(a)  WeiHd / Protocol
(b)  rEEL/ Fiber

(©)
(d)

wiEgey ufd dee / Megabits per second
=3 R 3feRan T/ Minimum and maximum server

70.  wtiicran S A dh UiE |

The logic family having maximum fanout is

(a)
(©)

CMOS by TTL
ECL @ 2L

71, ghiday il 5 | e w7

Which of the following is known as equivalence logic?

(@)  XOR (b) XNOR

(c)  NAND (d) NOR
72. WA anghe wowele —— S sl sl 21

At resonating frequency, the circuit behaves as

(a) Fufedia/ Capacitive

(b) IEHE/Inductive

(¢) T/ Resistive

(d)

Hydla ot vedia @ Fafddia 8 whar 2 / Can be resistive, inductive or capacitive

20 PC-12/2018
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@@ﬁm@qwmm———i___f

An anti-static strapis used ——

(a) Togawisdsd/ o prevent electric shock

(b) &N F 1Y/ for insulation

(c) & & & fRya/ for Surge Protection

(d) %W@ﬁwﬁwﬁwmaﬁw/to Inhibit Electrostatic discharge

DHCP mdy
The DHCP server .
() S9A 1P v o1 Se7 39w T Maintain a database of available (P addresses

(b) o wERRYE e SR @Rt % / Maintain the information about client
configuration parameters

) wMRIFEEamap TgH AdT 2 / Grant a IP address when receives a request from
a client

()  swOwEd/ Al of the mentioned

%amw%,ﬁw%@ammaﬂtﬁw%@ai%m%

Al of the following are examples of direct security and privacy threats except,

(a) &%/ Hackers (b) aRRH/ Virus
() ¥M/Spam (d) Idg/Worms
o e % fewtee O g |

What is the default port number for web servers?

{a) 20 (b) 27

{cy 80 (d) 88
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77.

78:

79.

80.

237@%%@@%%@@%1

An Octal number 237 is equal to the binary number?

(@) 011011111 (b) 010111011
(¢cy 010011 111 (d) 011000001
C im 3 Tt vt A 28 B el g g —— |

What is the function all the C programs must contain?

(a) start() (b) main ()

(c) system () (d) program ()

SATA 3 s, o frat stferehan g e dehd &7

What is the maximum distance that you can connect through a SATA?
(a) 1wt/ 1 meter

(b) 1 fereinfie/ 1 kilometer
(¢) 100 freiiet feftret % wrer / 100 kilometers with repeaters
(d) 5wt/ 5 meters

ﬁaﬁa%ﬁzﬁaﬁxwﬂﬁwﬁflﬁ@ﬁaﬂqmwﬁmaﬁwﬁmﬁ%

SET

Which of the following is arranged in the correct Active Directory organizational order

(largest to smallest)?

(a) 2, wiE, <A, wret/ Tree, Forest, Domain, Computer
(b)y  Fepe, Hiwe, i, 21/ Computer, Forest, Domain, Tree
(c) whe, A, S, S / Forest, Tree, Computer, Domain
(d) Wi, &, e, gt/ Forest, Tree, Domain, Computer
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81.

82.

83.

giforeet ol o6l seag i ol e Ioft o areeh 2, —— aeema 2

Transistor in which both free electrons and holes are current carriers is termed as

(a)
(b)
(c)
(d)

sIEIer gifsteet / Bipolar transistor
grEien gifsieet / Dipolar transistor
SrEier gifseet / Tripolar transistor
aufidier gifvret / Semipolar transistor

SR Nferersh 8 G el g et g el —

If current across a resistor is doubled by doubling the voltage across it. Then,

(a)
(b)
(©)
(d)

gfeller gz wrear 2 / The resistor value is decreased
Sferler e sigerdr =1 / The resistor value did not change
wfciier 7o siear ® / The resistor value is increased

Hﬁfﬁau@wﬁmm/cmnge in resistor value cannot be determined

frefcrtiaa =01 <t @ffforen e 8 s srefi qerge S-R el wem 3§ seerd) 27

Cross-coupling of which of the following logic gates will result in a basic S-R flip-flop?

(a)
(b)
(©
(d)

AND or OR gates
XOR or XNOR gates
NOR or NAND gates
AND or NOR gates
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84.

85.

86.

87.

reg ¥ g Affa s —— &9 A gudd g 2

For an inductor, the energy generated by the current flowing through it is stored in the
form of

(a)  foga &=/ Electrical field

(b) <= & / Magnetic field

(c) soHIRd &7 / Electrostatic field
(d) @ &/ Force field

@magﬁﬁ@ﬂmﬁwaaﬁﬁaﬁﬁaﬁ%%@uﬂﬁ@awaﬁﬁ%

The storage device used to compensate the difference in rates of flow of data from one
device to another is termed as

(a) T/ Chip (b) =4/ Channel
(c) At/ Floppy (d) =t/ Buffer

e T SR TR 2 PP P g Wt MeTehie i |1 87
What protocol does PPP used to identify network layer protocol?
(a) NCP (b) ISDN
(c) HDLC (d) LCP

OS| uiget # HUB =gl fifde 87

Where is a HUB specified in the OSI model?
(a) Av= R/ Session Layer (b) sifeer @ / Physical Layer

(c) safamwr/ Data link Layer (d)  afwfere wat / Application Layer
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88.

89.

90.

VLAN 11 shidr g7

What does VLAN do?

(@)  Hed ool 9 o W AT 2/ Act as a fastest port to all servers

(b) Wk wWiw Wi # aganft iferem S 31 2 / Provide multiple collision domains on one

switch port

(c) AR & Jeash 1 yemu i &) e 2 1 siiear 2 / Break up broadcast domain in layer 2

switch inter network

(d)  wehet shifersi i 3 srgatht wamor e 241 2 / Provide multiple broadcast domain within

a single collision domain

T <61 | SieieRTet 39T & wirar 27

Which Protocol does Ping uses?

(@ TCP (b)
() ICMP (d)

CD_ROM& —

CD_ROM is a |
(a)  @redames And / Semiconductor memory

(b) A=/ Memory register
(¢)  gshmumd/ Magnetic memory
(d) 3w HA % 7/ None of the above

ARP
BootP
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Fl Fd e v / Space for rough work

27

PC-12/2018




1y ds

Haler 3TANT &eg (U, AEHIEE

'1-- SPACE APPLICATIONS CENTRE (ISRO), AHMEDABAD SET
SHileEn den i - <t (Hwausre) A
TECHNICIAN-“B” (CHNM)

5. I T 3R g dlet W W fHAT g3 wee qfedar @le #1s (A/B/C/D/E) 3NTANR fic
¥ afFg F OEer 3R guad e JfEr §1 e F &R W, 3eax e §1 S el d
STTaafT|
Question Booklet series code (A/B/C/D/E) printed on the right hand top corner is
mandatory to be written on the OMR sheet in the box and bubble appropriately. Failing
which, the answer sheet will not be evaluated.

6. UelE WE Feal F UH (+1) HF §; Fea¥ o A W oA (0) IHF WM HR I@d Fee W
S uige @t uie (—0.25) 37 & fhar smeem|
Each correct answer will carry one (+1) mark; Zero (0) for no answer and minus
zero point two five (-0.25) for a wrong answer.

7.  fody off vo & AU &€ Rdeal T A I 3l Ield AR ST
Multiple answers for a question will be regarded as a wrong answer.

8. 3R e #F carigds fadd sfafed AR e gere o7l @ s
Marking in OMR must be done with utmost care. No spare OMR sheet will be provided.

9. %@aﬁmﬁ%ﬁ@,w,mmmmgﬁa@% YT,
ITGATE], Alcd 3MMe, o T 3TATT AT & Seef|
Computers, calculators, mobile phones, reference books, logarithm table, electronic
gadgets etc. will not be allowed inside the Examination Hall.

10. SR g T U UF F 3Ty TR & WA (6 i & v fRAr S oaddr g1 A
faRea ofie 7gt & amee)

Space available in the Question Booklet can be used for rough work, if required.
No separate sheet will be provided.

11. 3efear @ glEl & uger 6 & N afie g Slsa A At el g
Candidate are not permitted to leave the Examination Hall during the first one hour of
the examination.

12. mﬁmwmm%ﬁwaﬁwﬁ(i)ﬁam(ii)ﬂgmmaﬁt
(geelhe INTANR e FFHIEaR 3ivel 9 I Fehel © |)

Candidate should hand over the following to the invigilator when asked: (i) Hall-Ticket
(ii) Original OMR sheet (copy of the OMR sheet to be retained by the candidate).
13, Ry faredy wreaT 3 foralt ye oY IS AGUT AT ALATCHS YRR BT Afe 81 At e o fedl cam 3rarsh

TRt & § 376 T AT 19T |

If there is any sort of ambiguity/mistake either of printing or factual nature then out of
Hindi and English Version of the question, the English Version will be treated as
standard.
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